~.
~.

THREERRE THRERIERRE KEH R :1/2500

i

y

BAWRZDIELE |(2ENBORHE
HRAEES 132525A661101073

ERIES jtsc
FriEih IS ERE T AT+

VIES
#&R :1/50,000
_ —

X 5 & A fI
[ ] twssenxs
- IRKERNERES (MPERSES) —
BB LB H0100kN/ mE B % B R i
HHEIOImERZ SR
[ ] zhusoxs

B R R I (FFRS
TRFEDNOREEDRT

[TREDNDORES—ERISHE

ETEE
&TEAR
HERES
L EREAHE
R 51 e prapp——
= . \%"5
1/2,500
X TERFOHOKREE—HER] TRRSNLIHEL, EHE GtHEE) &/NMHEMTEBEALEZLDOTY, 1 / 2 .% *E |$_
ZD1H. ABITRS L TWSRIEORFEMETIE, FAIOFE L RRBEN—BLAEVNEENHY FT, T~
Fl1) BE-KDHDETEMEA 100.01 kN/m DIFE. EERAEAICKY 100.0 ERRSNET A, EEEL100 kN/miZ
BATWA6, TBEITKSAM00kN/MEBZHRE] RS LET,

Bl2) HESOFEMED 3. 00mDIHFE, MIEAAICLY 3.0 EXRTENFTTA, BRIE ImEBIATLS0.
TEFEA ImEBAHRE ITHELET,



TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. TEE@%”‘E’*%EQ”&Z\*&%%':M'Zé’\ HEBEFAEEES  [132525A661101073
j:ld)lZﬁj\i%EEG)Eﬁ',Hﬂ éhT:Eiﬁﬂ@ﬁﬁfLEmbfb %)o o y— N
(A) BBENZ LB NA00N/ MERZ BRBEDBED HDBABEKN/) (E) BB A OmERZ SR DHEED N DEKABEKN/) 2 THXERARUZEBNICSHIREEHT S ik 50
Z mzitE A ] HERANIE m == mz e A =] ERNIE m & 3 3 - — | L E‘ Han g = - : :
(B) (WAL HREMI= T S BB+ EEOBM) () A LBREN AT 5BE0 L EEOBHm) A AL A b R 7E e ECT- Ry
(C) BN & B HA100kN/m LU T DR IFDFEEND 11 DB KAEKN/ ) (G) HIEESHIMUT ORI D HFED S DOEFRKIEKN/ ) BN =4 I5E & =2 6% R L 2 I Pri-m A 15
D) ONLHEEYI AT IBENLIREDNES(m) H) (N LHEREYIERTIBENTRZENEEM) DRFGFAENCHEET H_ENTES,
METHIVTADLIRZOHOKRES SEMMAOLTRZEDHORES
XHES % =
(A) (B) (c) (D) (E) (F) (G) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) - - 92.1 1.0 - - 12.9 2.6 - - 92.1 1.0 - - 12.9 2.6
(2) - - 92.1 1.0 15.4 3.1 15.1 3.0 - - 92.1 1.0 15.4 3.1 15.1 3.0
( 3) - - 98.3 1.0 - - 15.1 3.0 - - 93.7 1.0 - - 15.1 3.0
( 4) 1111 1.0 99.2 1.0 - - 13.1 2.6 111.1 1.0 99.8 1.0 - - 13.1 2.6
RO RS L RO RRRIE Ll MRS s R B B arts ) g 2/ 2 BiRE

Bl1) BEICKHADEEMEA 100.01 kKN/mi DIFE. EEAAISEY 100.0 ERRENETAH. EHZ100 kN/m %
BATWAH, [BEICKZNMI00N/MEBZHRE] [CHRLELET,

Bl2) HESOFEMED 3. 00mDIHFE, MIEAAICLY 3.0 EXRTENFTTA, BRIE ImEBIATLS0.
TEFEA ImEBAHRE ITHELET,




